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10.1-10.4, 10.9 Review

Clickers

1) If AB=8, BC=15, AC=13, find the area of
circle B. If necessary, round to the nearest

tenth.

1) If AB=8, BC=15, AC=13, find the area of
circle B. If necessary, round to the nearest

tenth. g g -x+15-x= 13
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2) HM=JL=34, NO=5x-4, OK=2x+8. Find the
circumference of circle O. If necessary,
round to the nearest tenth.

2) HM=JL=34, NO=5x-4, OK=2x+8. Find the
circumference of circle O. If necessary,
round to the nearest tenth.

. Ox -4 = ax+%
N\ 3= 15
QDI\ F )\:4
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3) There is a rubber band wrapped tightly around circle A
and circle B (the yellow line). If the distance between the
centers of circle A and B is 20 and the radii are 4 and 6,
find the length of the rubber band. If necessary, round to
the nearest tenth.




3) There is a rubber band wrapped tightly around circle A
and circle B (the yellow line). If the distance between the
centers of circle A and B is 20 and the radii are 4 and 6,
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4) Circles A and B with radii 8 and 12 are
internally tangent. The distance between the two
centers is 4. Find the length of the chord, and if
necessary, round to the nearest tenth.

D

4) Circles A and B with radii 8 and 12 are
internally tangent. The distance between the two
centers is 4. Find the length of the chord, and if
necessary, round to the nearest tenth.

1974 = %
144-\b = 125

Q‘\ x= {108

cnord = &%
o =220

5) A square is inscribed in a circle with side
lengths of 7in. Find the circumference of the
circle, and if necessary, round to the
nearest tenth.

5) A square is inscribed in a circle with side
lengths of 7in. Find the circumference of the
circle, and if necessary, round to the
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6) Circle O has a radius of 12 and
mAB = 3m. Find £AOD, if necessary
round to the nearest tenth.
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6) Circle O has a radius of 12 and
mAB = 3m. Find £AOD, if necessary,
round to the nearest tenth.

[ c=24m  Br _ L
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A (900) = 45°
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‘ 10 - 45"+ 135°
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7) Circle J is inscribed in a square with a perimeter
of 48. Find the distance from the corner of the
square to the circle. If necessary, round to the
nearest tenth.
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7) Circle J is inscribed in a square with a perimeter
of 48. Find the distance from the corner of the
square to the circle. If necessary, round to the
nearest tenth. 4%
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8) Circle O has a radius of 15, the distance from the
center of circle O to chord CN is 9, CE=24, and CE and
NE are both tangent to circle O. Find the perimeter of the
triangle, rounding to the nearest tenth if necessary.

C

8) Circle O has a radius of 15, the distance from the
center of circle O to chord CN is 9, CE=24, and CE and
NE are both tangent to circle O. Find the perimeter of the
triangle, rounding to the nearest tenth if necessary.




